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a) (2) in (1) einsetzen:

4x +3x=42
7x =42
X=6

| zusammenfassen
|:7

X =6 in (2) einsetzen:

y=3-6

y=18

Die Lésung ist (6; 18).

Probe:

M1 4-6+18=42
42=42 v

c) (1) in (2) einsetzen:

4x +4x =8

8x =8

x=1

x =1 in (1) einsetzen:
y=4-1
y=4
Die Lésung ist (1; 4).
Probe:
Ma=4 v

a) (2) nach y auflosen:
Qy+9=24
@) y=15
(2)" in (1) einsetzen:
5x+15=20
5x=5
x=1
Losung: (1; 15)
¢) (2) nach y auflosen:
2 y-2x=4
2) y=2x+4
(2)" in (1) einsetzen:
2x +4+5x=11
7x+4=11
7x=7
x=1
X =1 in (2) einsetzen:
y=2-1+4
y=6
Losung: (1; 6)
d) (2) nach y auflosen:
(2)2y=12x-32
2) y=6x-16
(2)" in (1) einsetzen:
3x+6x-16=11
9x-16 =11
9x =27
x=3
X =3 in (2) einsetzen:
y=6:3-16
y=2
Losung: (3; 2)

(2) 18=3-6
18=18 Vv

| zusammenfassen
|:8

Q4+4-1=8
8=8 v

|+2x

| zusammenfassen
| -4
|:7

|:2

| zusammenfassen
|+16
|:9

a) (2) in (1) einsetzen:
4x - (x+6) =15
4x-x-6=15
3x-6=15
3x=21
x=7
X =7 in (2) einsetzen:
y=7+6
y=13
Losung: (7; 13)

¢) (2) nach x auflosen:
2) x+3y=6
@) X=-3y+6
(2") in (1) einsetzen:
7y-(-3y+6)=4
7y+3y-6=4
10y -6=4
10y =10
y=1
y =1 in (2) einsetzen:
X=-3:1+6
x=3
Losung: (3; 1)

| Klammer auflésen
| zusammenfassen
[+6

|:3

|-3y

| Klammer auflésen
| zusammenfassen
[+6

|:10



